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Step 6 : Channel 27 tof-le vs tof-tot

0

100

200

300

400

500

600

Step 6 : Channel 28 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50 55 60

to
f-

le
 [n

s]
 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 28 tof-le vs tof-tot

0

100

200

300

400

500

600

Step 6 : Channel 29 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50 55 60

to
f-

le
 [n

s]
 

5−
4−

3−
2−

1−

0

1

2

3

4

5

Step 6 : Channel 29 tof-le vs tof-tot
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Step 6 : Channel 30 tof-le vs tof-tot
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Step 6 : Channel 31 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

Step 6 : Channel 32 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50 55 60

to
f-

le
 [n

s]
 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 32 tof-le vs tof-tot
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Step 6 : Channel 33 tof-le vs tof-tot
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Step 6 : Channel 34 tof-le vs tof-tot
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Step 6 : Channel 35 tof-le vs tof-tot
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Step 6 : Channel 36 tof-le vs tof-tot

0

100

200

300

400

500

Step 6 : Channel 38 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50 55 60

to
f-

le
 [n

s]
 

5−
4−

3−
2−
1−

0

1

2

3

4

5
Step 6 : Channel 38 tof-le vs tof-tot
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Detector # 0 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

Detector # 1 Resolution Fit

 / ndf 2χ  100.2 / 11

p0        0.0005± 0.1281 
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Detector # 2 Resolution Fit

 / ndf 2χ  72.18 / 12

p0        0.0005± 0.1427 

 = 0.142652 [ns] σ

/DOF = 6.0147262χ

Detector # 2 Resolution Fit
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Detector # 3 Resolution Fit

 / ndf 2χ  127.3 / 11

p0        0.0005± 0.1345 

 = 0.134532 [ns] σ

/DOF = 11.5730332χ

Detector # 3 Resolution Fit
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Detector # 4 Resolution Fit

 / ndf 2χ  190.5 / 12
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 = 0.136155 [ns] σ
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Detector # 4 Resolution Fit
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Detector # 5 Resolution Fit

 / ndf 2χ  50.61 / 11

p0        0.001± 0.137 
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Detector # 5 Resolution Fit
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Detector # 6 Resolution Fit

 / ndf 2χ  136.8 / 11

p0        0.0005± 0.1277 

 = 0.127687 [ns] σ
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Detector # 6 Resolution Fit
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Detector # 7 Resolution Fit

 / ndf 2χ  186.1 / 12

p0        0.0005± 0.1317 

 = 0.131694 [ns] σ
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Detector # 7 Resolution Fit
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Detector # 8 Resolution Fit

 / ndf 2χ  226.9 / 11

p0        0.0004± 0.1278 

 = 0.127793 [ns] σ
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Detector # 8 Resolution Fit
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Detector # 9 Resolution Fit

 / ndf 2χ  163.7 / 11

p0        0.0004± 0.1291 

 = 0.129119 [ns] σ

/DOF = 14.8821102χ

Detector # 9 Resolution Fit
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Detector # 10 Resolution Fit

 = 0.000000 [ns] σ
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Detector # 10 Resolution Fit
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Detector # 11 Resolution Fit

 / ndf 2χ  117.9 / 11

p0        0.0005± 0.1341 

 = 0.134105 [ns] σ

/DOF = 10.7197002χ

Detector # 11 Resolution Fit
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Detector # 12 Resolution Fit

 / ndf 2χ  141.2 / 11

p0        0.0005± 0.1308 

 = 0.130778 [ns] σ

/DOF = 12.8380742χ

Detector # 12 Resolution Fit
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Detector # 13 Resolution Fit

 / ndf 2χ  25.55 / 12

p0        0.0006± 0.1457 

 = 0.145657 [ns] σ
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Detector # 14 Resolution Fit

 / ndf 2χ  54.93 / 12

p0        0.0007± 0.1527 

 = 0.152665 [ns] σ
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Detector # 14 Resolution Fit
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Detector # 15 Resolution Fit

 / ndf 2χ  162.1 / 11

p0        0.0005± 0.1288 

 = 0.128843 [ns] σ

/DOF = 14.7329742χ

Detector # 15 Resolution Fit
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Detector # 16 Resolution Fit

 / ndf 2χ    236 / 12

p0        0.00±  0.13 
 = 0.130005 [ns] σ

/DOF = 19.6685662χ

Detector # 16 Resolution Fit
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Detector # 17 Resolution Fit

 / ndf 2χ  270.3 / 12

p0        0.0004± 0.1279 

 = 0.127897 [ns] σ

/DOF = 22.5225462χ

Detector # 17 Resolution Fit
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Detector # 18 Resolution Fit

 / ndf 2χ  241.9 / 11

p0        0.0004± 0.1244 

 = 0.124438 [ns] σ

/DOF = 21.9866992χ

Detector # 18 Resolution Fit
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Detector # 19 Resolution Fit

 / ndf 2χ   2162 / 16

p0        0.0002± 0.1067 

 = 0.106706 [ns] σ

/DOF = 135.1356492χ

Detector # 19 Resolution Fit
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Detector # 20 Resolution Fit

 / ndf 2χ   2222 / 16

p0        0.0002± 0.1058 

 = 0.105845 [ns] σ

/DOF = 138.8818512χ

Detector # 20 Resolution Fit
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Detector # 21 Resolution Fit

 / ndf 2χ   2059 / 16

p0        0.0002± 0.1035 

 = 0.103519 [ns] σ

/DOF = 128.6984602χ

Detector # 21 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

Detector # 22 Resolution Fit

 / ndf 2χ   1524 / 16

p0        0.0002± 0.1073 

 = 0.107333 [ns] σ

/DOF = 95.2193052χ

Detector # 22 Resolution Fit
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Detector # 23 Resolution Fit

 / ndf 2χ   1657 / 16

p0        0.0002± 0.1071 

 = 0.107102 [ns] σ

/DOF = 103.5872452χ

Detector # 23 Resolution Fit
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Detector # 24 Resolution Fit

 / ndf 2χ   1735 / 16

p0        0.000± 0.116 
 = 0.115995 [ns] σ

/DOF = 108.4365132χ

Detector # 24 Resolution Fit
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Detector # 25 Resolution Fit

 / ndf 2χ   1999 / 16

p0        0.0002± 0.1027 

 = 0.102676 [ns] σ

/DOF = 124.9365032χ

Detector # 25 Resolution Fit
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Detector # 26 Resolution Fit

 / ndf 2χ   1846 / 16

p0        0.0002± 0.1018 

 = 0.101828 [ns] σ

/DOF = 115.3505342χ

Detector # 26 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

Detector # 27 Resolution Fit

 / ndf 2χ   1627 / 16

p0        0.0002± 0.1026 

 = 0.102625 [ns] σ

/DOF = 101.6585652χ

Detector # 27 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

Detector # 28 Resolution Fit

 / ndf 2χ   2319 / 16

p0        0.00020± 0.09945 

 = 0.099450 [ns] σ

/DOF = 144.9212572χ

Detector # 28 Resolution Fit
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Detector # 29 Resolution Fit

 / ndf 2χ  895.3 / 16

p0        0.0003± 0.1125 

 = 0.112539 [ns] σ

/DOF = 55.9542652χ

Detector # 29 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.15−

0.1−

0.05−

0

0.05

0.1

0.15

0.2

0.25

Detector # 30 Resolution Fit

 / ndf 2χ  811.8 / 16

p0        0.0003± 0.1129 

 = 0.112854 [ns] σ

/DOF = 50.7347752χ

Detector # 30 Resolution Fit
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Detector # 31 Resolution Fit

 / ndf 2χ  392.7 / 16

p0        0.0003± 0.1244 

 = 0.124436 [ns] σ

/DOF = 24.5464292χ

Detector # 31 Resolution Fit
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Detector # 32 Resolution Fit

 / ndf 2χ  221.5 / 16

p0        0.0003± 0.1254 

 = 0.125374 [ns] σ

/DOF = 13.8455312χ

Detector # 32 Resolution Fit
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Detector # 33 Resolution Fit

 / ndf 2χ  131.3 / 16

p0        0.0003± 0.1313 

 = 0.131282 [ns] σ

/DOF = 8.2084732χ

Detector # 33 Resolution Fit
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Detector # 34 Resolution Fit

 / ndf 2χ  597.5 / 16

p0        0.0003± 0.1148 

 = 0.114820 [ns] σ

/DOF = 37.3427832χ

Detector # 34 Resolution Fit
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Detector # 35 Resolution Fit

 / ndf 2χ  800.2 / 16

p0        0.0002± 0.1184 

 = 0.118362 [ns] σ

/DOF = 50.0115592χ

Detector # 35 Resolution Fit
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Detector # 36 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 36 Resolution Fit
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Detector # 37 Resolution Fit

 / ndf 2χ  954.7 / 16

p0        0.0002± 0.1113 

 = 0.111285 [ns] σ

/DOF = 59.6708382χ

Detector # 37 Resolution Fit
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